
List the transformations that have been applied to the parent function 
resulting in the function g(x).W
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1. 𝑔 𝑥 = 2(𝑥 − 3)3+4 2. 𝑔 𝑥 = −0.5 𝑥 + 1 2 − 3

3. What transformations were applied to the function

𝑓 𝑥 = 𝑥 − 3 + 2 that resulted in the function 𝑔 𝑥 = − 𝑥 + 3?

4. Sketch the function  𝑓 𝑥 = 𝑥 − 3 + 2 .  State the domain and 
range.



Objectives

Homework Packet Page 10 sections III and IV, all
sections I and II all the problems 
you haven’t completed yet.

Packet Page 8 and 9 all

Recognize standard and vertex form of a quadratic 
equation.

Put quadratic equations in standard and vertex form.

Factor quadratic equations in standard form
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The vertex form of a quadratic function is

𝒇 𝒙 = ±𝒂(𝒙 − 𝒉)𝟐+ 𝒌

The vertex of the parabola is (𝒉, 𝒌), It’s either the 
min or the max depending on which way the graph 
opens.
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Vertex: (0, −5)

Function Equation: 𝑓 𝑥 = 𝑥2 − 5



The vertex form of a quadratic function is

𝒇 𝒙 = ±𝒂(𝒙 − 𝒉)𝟐+ 𝒌
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Vertex: (−2, 0)

Function Equation: 𝑓 𝑥 = (𝑥 + 2)2



The vertex form of a quadratic function is

𝒇 𝒙 = ±𝒂(𝒙 − 𝒉)𝟐+ 𝒌

Q
u

ad
ra

ti
cs

 -
Fa

ct
o

ri
n

g

Vertex: (3, −4)

Function Equation: 𝑓 𝑥 = (𝑥 − 3)2−4



The standard form of a quadratic function is

𝒇 𝒙 = 𝒂𝒙𝟐 + 𝒃𝒙 + 𝒄

Use the fact that  𝒉 = −
𝒃

𝟐𝒂
. 

Then evaluate the function at 𝒙 = 𝒉 or
𝒌 = 𝒇(𝒉)

Q
u

ad
ra

ti
cs

 -
Fa

ct
o

ri
n

g

𝒇 𝒙 = 𝟐𝒙𝟐 − 𝟖𝒙 + 𝟏

𝒉 = −
−𝟖

𝟐 𝟐
= 𝟐

𝒌 = 𝒇(𝟐)

𝒌 = 𝟐(𝟐)𝟐−𝟖 𝟐 + 𝟏

𝒌 = −𝟕

Vertex is (𝟐,−𝟕)

How can we put this equation in vertex form? 

𝒇 𝒙 = 𝒂(𝒙 − 𝒉)𝟐+𝒌

𝒇 𝒙 = 𝟐(𝒙 − 𝟐)𝟐−𝟕
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rm Put the equations in vertex form

20. 𝑥2 + 10𝑥 − 1 = 0 21. 𝑥2 + 2𝑥 − 7 = 0
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rm We can also use the calculator to put an equation in vertex form.

y = 𝑥2 + 10𝑥 − 1

Type your equation in  y1

[2nd][TRACE][3:minimum]

Move cursor to left of min
[ENTER]

Move cursor to right of min
[ENTER]

[ENTER]

Vertex (-.5,-3.5)

𝑦 = (𝑥 +
1

2
)2 −

7

2Convert any decimals to fractions.
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rm Put the equations in vertex form using your calculator

28. 𝑥2 − 6𝑥 + 4 = 0 24. 3𝑥2 + 4𝑥 = 2𝑥2 + 3



Packet Page 10 sections III and IV, all
sections I and II all the problems 
you haven’t completed yet.

Packet Page 8 and 9 all


